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Section 1: Single Choice(2 marks for each item, total 20 marks)
1 A 2 C 3 C 4 A 5

D
6_C 7_C 8 B/D 9 D 10_C

Section 2: Read the following problems and answer questions (5 marks for each item,
total 30 marks)

1. (1) Yes. Because vector is not a variable (vector is a type name). (2)
(2) typedef int *(*T)(char *, double); (3)

2. 364204

3. 2->3->7->4

4. 1->2->3->4->5->6

5. 3#Empty2!0#2#1#

6 7
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Section 3: According to the specification, complete each program (2 marks for each

blank, total 30 marks)

(1) mAB

(3) FraTriangle(A,mAB,mCA)
(5) FraTriangle(mCA,mBC,C)
(7) Q->front==Q->rear

©) (Q->rear+1)%Q->maxsize
(11) InitGraphics()

(13) TimerEventProcess

(15) isDisplayCircle=!isDisplayCircle

2 DrawTriangle(A,B,C)

4) FraTriangle(mAB,B,mBC)

(6) Q->front==(Q->rear+1)%Q->maxsize
(8) Q->pBase[Q->rear]

(10) *val

(12) KeyboardEventProcess

(14) TIMER_BLINK100 or 1

Section 4: Algorithms design (10 marks for each item, total 20 marks)

1.

static ListNode* FindFirstCommonNode(
ListNode* I1, ListNode* 12) {
int len1, len2, numLeftNodes;
ListNode *IPtr, *sPtr;
if (I1==NULL || 12==NULL) return NULL;
len1 = ListLength(11);
len2 = ListLength(12);
if (len1 > len2) {
IPtr=11; sPtr=12;
numLeftNodes = len1-len2;
} else {
IPtr =12; sPtr=11;
numLeftNodes = len2-len1;
}
for (int i=0;i<numLeftNodes;i++)
IPtr = IPtr->next;
while (IPtr && sPtr && IPtrl=sPtr) {
IPtr = IPtr->next;
sPtr = sPtr->next;

}

return IPtr;

}
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2.

void binSelection(int array[], int n) {
int k,tmp,lh,rh,minPos,maxPos;
for (lh=0, rh=n-1; Ih<rh; Ih++, rh--) {
minPos=lh; maxPos=rh;
for (k=lh; k<=rh; k++) {
if (array[minPos]>array[k]) {
minPos = k;
} else if (array[maxPos]<array[k]) {
maxPos=k;
}
}
tmp=array[lh];
array[lh]=array[minPos];
array[minPos]=tmp;
tmp=array|[rh];
array[rh]=array[maxPos];
array[maxPos]=tmp;

}

return;




